ol
™

ol
o8
ojie
Xfo

ol

~— ~— ~— ~— ~—




2. o235 AM AT OE ALY
D -345-2 @ -13+3+10 @—3+2—5
@ 6-10+4 ® -4+7+3-6

B

®o
@0
® -6
@0
®0




~—

—~

~—

—~

~—

S N
+ [
T e = 3
[ | I +
Il Il I Il
N o b =™
+ L £ L
+ + 4+ +
KU
@®A@”,@

= —
— AN A
[ I

—_—~ o~ —~

SN I S

+ 1!
<t
NN

T+
T |




ke 1olA A7kl Al Wol Y] 49] &
ol mE PEE x y o] ghe Hshan st

=

oju, xy °] g F-stofzt.

\VARR 4
0x
iy

160

Aol 9% Mo o2

1+ (=2)+7+4=10°]t},
AP o] LEZ HO T2
1+x+2+(-9) =10 x=16
A2 o] B ol v 4=9] o2
4+y+5+(—9):10 sy=10

" xy=16x10 = 160




8
> E
17 17
MHebr g o0
|>or=|. 3 —|—8

(+)-com-(+7) 43

.85
"1
1T
=t3

(

+112
40

)+

39
40

)




ol
el
|
il
Njo

ol

-4+6

=

<+
o

!

ju|

@ -4Htte

= 246

<+
mJ
ma

o

@2 Hr} -6

= -1+4+(-3)

<+
.
me

=l

® -1 Htt-3

‘ ® 2 Ht} -6

= 2+ (-6)

<+
i
mm

Tl




=3
A
H

=3

ul

A A

13)
60

(+

)

(+35) -0 (

13)
60

-
15
13

(+

20

60

60 60




7} Vit

5
6

ok & 7€ oAl Ml -

S

B

0[O 10O

[l Il
_H_ _H_ 9___6
2"3 4"6 _H_

=

T
__o.._
<A

Ft

H27 A




the B b, A, gAY Bgom 7t 4
HolE O g B oy @, o o R 5
o7

@1 -3 @5 @4 0O

ko] S8 5 247 x, y, z, w Sl & O,
x |—3| 2
aly| 3
z|lw|—-2

x-34+2=2+3-2=3

Lx=4
Ly=1

a+y+3=3,a+4=3
La=-1




10. T8 % 1 A Ao} el Yt ohe AL

D (-2) x(-3) @ (+1) x (+6) ® (-3) x (-2)

@ (-2)x (=3) = +(2x3) = +6
@ (+1) x (+6) = +(1 x6) = +6
® (-3)x(-2) =+(3x2) = +6
@ (+2)x (-3) =-(2x3) =

® (-1) x (-6) = +(1x6) = —|—6




1
A RS a4 -

5~ 2T AR TGEA FE B ES T
M EFEA A TEBZE W, 34+ BE T2

> E

> ®™et: 4

3A+B:3><§—12:—4




12. 95 F7H 2 4=




13. s F Attol &4 92 A2?

@® (-3)2-(-3)=12 @ -32-(-3)=-6
® -3-(-3)2=-12 @—32 +(-3)=-6
® (-2)2-(-4)=8




[\
=%
— 3 E._
oo
]
O
- Br
T oo
PG

ol

s =%




15. T8 % A4 At ohe sy

© 0+ () 02k




F 5 a, b7 o 22,

16.

® 0 @ 2 ® 4

®-:

— | — |00 Il




17. 2-4+3-7-& 3402 JHA] Ailotozt

> =
>8I -6

8

+2) + (=4) + (+3) + (-7)

) ( 3)+(=4) +(-7)
++#3)}+{(-9)+ (-7}

(2+3-+{ (4+7}

5) +(-11)

11-5)

N
1
L3ETTE

|
(=2}




